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1 Phe = 100 pmol/I Phe = 120 umol/I

3 Phe = 100 umol/| Phe = 120 umol/I

6 Phe > 99 umol/I Phe > 110 umol/|

7 Phe = 180 umol/I Phe > 180 umol/l

8 Phe > 108 umol/I Phe > 120 umol/| Phe > 363 umol/I
10 Phe > 150 umol/I Phe > 150 umol/| Phe > 600 umol/|
13 Phe = 120 pmol/I Phe = 181.8 i pmol/I Phe = 181.8 i pmol/I

14 Phe = 130 umol/I Phe = 130 umol/I Phe = 600 umol/I
16 Phe = 100 pmol/I Phe = 120 umol/I

17 Phe = 180 umol/I Phe = 180 umol/l Phe = 180 umol/I

18 Phe = 100 pmol/I Phe = 150 umol/I

20 Phe > 120 umol/I Phe > 120 umol/|

21 Phe = 120 umol/| Phe = 120 umol/I

22 Phe = 84 umol/I Phe = 120 umol/I Phe = 600 umol/l
23 Phe = 150 umol/I Phe = 150 umol/I Phe = 150 umol/| Phe = 600 pmol/I
24 Phe = 80 umol/| Phe = 100 umol/I

25 Phe = 120 umol/I Phe = 120 umol/| Phe = 500 umol/I
27 Phe = 100 umol/I Phe = 120 umol/I

28 Phe = 140 umol/I Phe = 140 umol/l Phe = 242 umol/I
29 Phe = 162 umol/I Phe = 120 umol/I Phe = 600 umol/l
30 Phe = 80 umol/I Phe = 120 umol/| Phe = 500 umol/I
31 Phe = 120 umol/I Phe = 120 umol/l

32 Phe = 150 umol/I Phe = 150 umol/l Phe = 600 umol/l
33 Phe = 120 umol/I Phe = 120 umol/I

34 Phe > 100 umol/I Phe > 120 pumol/|

36 Phe > 180 pmol/|

37 Phe = 100 pmol/I Phe = 120 umol/I

38 Phe = 130 umol/I Phe = 130 umol/I

40 Phe = 120 umol/I Phe = 150 umol/I Phe = 600 umol/I
42 Phe > 180 umol/I Phe > 180 pmol/| Phe > 600 pumol/|
43 Phe = 162 pmol/I Phe = 120 umol/I

49 Phe = 120 umol/I Phe = 120 umol/I Phe = 400 umol/I
54 Phe = 120 pmol/I Phe = 120 umol/I

59 Phe > 180 umol/I Phe > 180 pmol/|

66 Phe = 100 umol/I Phe = 120 umol/I Phe = 500 umol/I
67 Phe = 100 umol/I Phe = 120 umol/I Phe = 600 umol/I
69 Phe > 1 120 | pmol/l Phe > 1 120 | umol/l

71 Phe = 180 umol/I Phe = 180 umol/I Phe = 600 umol/I
73 Phe = 120 umol/I Phe = 120 umol/I Phe = 480 umol/I
74 Phe = 130 umol/I Phe = 130 umol/I

75 Phe > 180 umol/| Phe > 600 umol/|
76 Phe = 100 umol/I Phe = 120 umol/I Phe = 600 umol/I
78 Phe = 120 umol/I Phe = 120 umol/I

79 Phe > 120 umol/I Phe > 120 pmol/|

82 Phe > 180 umol/I Phe > 180 pumol/| Phe > 600 pumol/I|
83 Phe = 120 umol/I Phe = 120 umol/I Phe = 300 umol/I
84 Phe > 150 umol/I Phe > 180 pumol/|

o1 Phe > 120 umol/I Phe > 120 pmol/|
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1 Leu+lle = 300 umol/I Leutlle = 350 umol/I
& Val = 200 umol/l | & Val = 250 umol/I

3 Leu+lle = 320 umol/I Leutlle = 350 umol/I
& Val = 230 umol/l | & Val = 250 umol/l

6 Leu+lle > 332.5 | pmol/I Leu+lle > 350 umol/I
or Val > 247 umol/I & Val > 260 umol/|

7 Val = 250 umol/I Val > 250 umol/I
or Leu+lle = 350 umol/l | & Leu+lle > 350 umol/I

3 Val > 230 umol/I Val > 256 umol/I Leu+lle > 600 umol/I
& Leutlle > 274 umol/I & Leu+lle > 305 umol/|

10 Leu+lle > 360 umol/I Leu+lle > 360 umol/I Leu+lle > 600 umol/I
& Val > 300 umol/I & Val > 300 umol/|

13 Val = 250 umol/I Val = 300 umol/I Leu(¥LeuD #) = 267 umol/I
or Leu+lle = 300 umol/l | or Leu+lle = 350 umol/l | or allo-lle = 0.1 umol/I

1 Leutlle = 350 umol/I Leutlle = 350 umol/I Leu+lle = 600 pmol/I
or Val = 300 umol/l | & Val = 300 umol/I

16 Leutlle = 350 umol/I Leutlle = 350 umol/I
or Val = 300 umol/l | & Val = 300 umol/I

17 Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu(¥LeuD #) = 230 umol/I
& Val = 250 umol/l | & Val = 250 umol/I

18 Leutlle = 300 umol/I Leutlle = 320 umol/I
& Val = 230 umol/l | & Val = 240 umol/I

20 Leu+lle > 350 umol/I Leu+tlle > 350 pumol/|
& Val > 250 umol/I & Val > 250 umol/I

n Leu+lle = 280 umol/I Leu+lle = 280 umol/I
or Val = 180 umol/l | & Val = 180 umol/I

2 Leu+lle = 245 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
or Val = 175 umol/l | & Val = 250 umol/I

23 Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+lle = 478 umol/I
& Val = 330 umol/l | & Val = 330 umol/l | & Val = 330 umol/I

" Val = 200 umol/I Val = 250 umol/I
& Leu+lle = 300 umol/l | & Leu+lle = 350 umol/I

25 Val = 250 umol/I Val = 250 umol/I Leutlle = 600 umol/I
or Leu+lle = 340 umol/l | & Leu+lle = 340 umol/I

27 Leu+lle = 300 umol/I Leu+lle = 360 umol/I
& Val = 280 umol/l | & Val = 300 umol/I

28 Leu+lle = 360 umol/I Leu+lle = 360 umol/I Leu+lle = 600 umol/I
or Val = 250 umol/l | & Val = 250 umol/I

29 Leu+lle = 315 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
or Val = 225 umol/l | & Val = 250 umol/I

30 Leu+lle = 300 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
or Val = 250 umol/l | & Val = 250 umol/I

31 Val = 250 umol/I Val = 250 umol/I
or Leu+lle = 350 umol/l | & Leu+lle = 350 umol/I

3 Val = 290 umol/I Val = 290 umol/I Val = 600 umol/I
or Leu+lle = 360 pumol/l | or Leutlle = 360 umol/I or Leutlle = 600 umol/I

33 Leu+lle = 350 umol/I Leu+lle = 350 umol/l
& Val = 320 umol/l | & Val = 320 umol/I

34 Leutlle > 290 umol/I Leu+lle > 320 umol/|
& Val > 220 umol/I & Val > 250 pmol/|




36 Leu+lle > 350 umol/I
& Val > 250 umol/|
3 Leu+lle = 300 umol/I Leu+lle = 350 umol/I
or Val = 300 umol/l | & Val = 350 umol/I
18 Val = 270 umol/I Val = 270 umol/I
& Leu+lle = 350 umol/l | & Leu+lle = 350 umol/l

20 Leu+lle = 280 pmol/I Leu+lle = 350 umol/I Leu+lle 2 600 umol/I
or Val = 240 umol/l | & Val = 300 umol/I

a2 Val > 250 umol/I Val > 250 umol/I Leu+lle > 600 umol/I
& Leutlle > 350 umol/I & Leu+lle > 350 umol/|
3 Leu+lle = 315 umol/I Leutlle = 350 umol/I
or Val = 225 umol/l | & Val = 250 umol/I

49 Leu+lle = 350 umol/I Leutlle = 350 umol/I Leu+lle = 600 pmol/I
& Val = 320 umol/l | & Val = 320 umol/I
54 Leutlle = 350 pmol/I Leutlle = 350 umol/I
59 Val > 250 umol/I Val > 250 umol/|
& Leu+lle > 350 umol/l | & Leu+lle > 350 umol/|

o6 Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
or Val = 300 umol/l | & Val = 300 umol/I

. Leu+lle = 320 umol/I Leu+lle = 360 umol/I Leu+lle = 600 umol/I
& Val = 240 umol/l | & Val = 300 umol/I
60 Leu+lle = 350 umol/I Leu+lle = 350 umol/l
or Val = 250 umol/l | or Val = 250 umol/I

n Leu+lle = 350 umol/I Leu+lle = 350 umol/l Leu+lle = 600 umol/I
& Val = 250 umol/l | & Val = 250 umol/I

7 Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
& Val = 300 umol/l | & Val = 300 umol/I
74 Leu+lle = 350 umol/I Leu+lle = 350 umol/I
or Val = 300 umol/l | & Val = 300 umol/I

75 Leu+lle > 350 umol/I Leutlle > 600 umol/I
& Val > 250 pumol/|

% Leu+lle = 320 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
& Val = 230 umol/l | & Val = 250 umol/l
78 Val = 250 umol/I Val = 250 umol/I
& Leu+lle = 350 umol/l | & Leutlle = 350 umol/I
79 Leu+lle > 350 umol/I Leu+lle > 350 umol/I
& Val > 250 umol/l | & Val > 250 ng/dl

2 Val > 250 umol/I Val > 250 umol/I Leu+lle > 600 umol/I
& Leu+lle > 350 umol/l | & Leu+lle > 350 pumol/|

83 Leu+lle = 350 umol/I Leu+lle = 350 umol/I Leu+lle = 600 umol/I
84 Val > 320 umol/I Val > 250 umol/I
& Leu+lle > 320 pumol/I & Leu+lle > 350 umol/I
Leu+lle > 350 umol/I Leu+lle > 350 umol/|
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1 Met = 50 pmol/I Met = 70 umol/I
3 Met = 60 umol/I Met = 70 umol/I
6 Met > 57 umol/I Met > 60 umol/|
7 Met = 80 umol/I Met > 80 umol/l
8 Met > 60 umol/I Met > 67 umol/|
10 Met > 60 umol/I Met > 60 umol/|
13 Met = 70 pmol/I Met = 80 umol/I Met = 80 umol/I
14 Met = 80 umol/I Met = 80 umol/I
16 Met = 60 pmol/I Met = 70 umol/I
17 Met = 70 umol/I Met = 70 umol/l Met = 70 umol/I
18 Met = 50 umol/| Met = 80 umol/I
20 Met > 80 umol/I Met > 80 umol/|
21 Met = 50 umol/| Met = 50 umol/I
22 Met = 50 umol/I Met = 67 umol/I Met = 100 umol/l
23 Met = 67 umol/I Met = 67 umol/I Met = 67 umol/|
24 Met = 50 umol/I Met = 50 umol/l
25 Met = 67 umol/I Met = 67 umol/I Met = 340 pmol/I
27 Met = 45 umol/| Met = 60 umol/I
28 Met = 60 umol/| Met = 60 umol/I Met = 134 pmol/I
29 Met = 72 umol/I Met = 80 umol/I
30 Met = 35 umol/I Met = 70 umol/I Met = 100 pmol/I
31 Met = 70 umol/I Met = 70 umol/I
32 Met = 60 pmol/I Met = 60 umol/I
33 Met = 50 umol/I Met = 50 umol/I
34 Met > 65 umol/I Met > 80 pumol/|
36 Met > 80 pmol/|
37 Met = 50 umol/I Met = 60 umol/I
38 Met = 80 umol/I Met = 80 umol/I
40 Met = 60 umol/I Met = 70 umol/I
42 Met > 80 pumol/I Met > 80 umol/I
43 Met = 72 pmol/I Met = 80 umol/I
49 Met = 70 umol/I Met = 70 umol/I
54 Met = 70 pmol/I Met = 70 umol/I
59 Met > 80 pumol/I Met > 80 umol/I
66 Met = 60 umol/I Met = 70 umol/I Met = 340 umol/I
67 Met = 45 umol/I Met = 60 umol/I Met = 100 umol/I
69 Met = 50 umol/I Met = 50 umol/I
71 Met = 80 umol/I Met = 80 umol/I Met = 100 umol/I
73 Met = 67 umol/I Met = 67 umol/I
74 Met = 80 umol/I Met = 80 umol/I
75 Met > 80 umol/|
76 Met = 60 umol/I Met = 70 umol/I Met = 100 umol/I
78 Met = 70 umol/I Met = 70 umol/I
79 Met > 80 umol/I Met > 80 umol/I
82 Met > 80 umol/I Met > 80 umol/|
83 Met = 70 pmol/I Met = 70 umol/I Met = 240 umol/I
84 Met > 67 umol/I Met > 80 pumol/|
o1 Met > 80 umol/I Met > 60 pmol/|
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1 Cit = 50 pmol/I Cit = 70 umol/I
3 Cit = 50 umol/I Cit = 80 umol/I
6 Cit > 47.5 umol/I Cit > 50 umol/| Cit > 250 umol/I
7 Cit > 1 100 ! pmol/l Cit > 1 100 | pmol/l
8 Cit > 61 umol/I Cit > 68 umol/| Cit > 300 umol/I
10 Cit > 85 umol/I Cit > 85 umol/| Cit > 300 umol/|
13 Cit = 80 umol/I Cit = 100 umol/I Cit = 100 umol/I
or ASA = 1.5 umol/I
14 Cit = 80 pmol/I Cit = 80 umol/I Cit = 300 pmol/I
16 Cit = 35 umol/I Cit = 80 umol/l
17 Cit = 50 umol/| Cit = 50 umol/I
18 Cit = 80 umol/I Cit = 100 umol/I
20 Cit > 100 umol/I Cit > 100 umol/|
21 Cit = 40 umol/I Cit = 40 umol/I
22 Cit = 46 umol/I Cit = 65 umol/I Cit = 300 pmol/I
23 Cit = 85 umol/I Cit = 85 umol/l Cit = 85 umol/I Cit = 300 umol/I
24 Cit = 36 umol/I Cit = 100 umol/I
25 Cit > 100 umol/I Cit > 100 umol/I Cit = 250 umol/I
27 Cit = 40 umol/| Cit = 85 umol/I
28 Cit = 65 umol/I Cit = 65 umol/I Cit = 300 umol/l
29 Cit = 90 umol/I Cit = 100 umol/I Cit = 300 pmol/I
30 Cit = 50 umol/I Cit = 100 umol/I Cit = 300 umol/I
31 Cit = 60 umol/I Cit = 60 umol/I
32 Cit = 85 umol/I Cit = 85 umol/I Cit = 300 umol/I
33 Cit = 60 umol/I Cit = 60 umol/l
34 Cit > 70 pumol/I Cit > 85 umol/I
36 Cit > 100 pumol/|
37 Cit = 70 umol/I Cit = 85 umol/I
38 Cit = 100 umol/I Cit = 100 umol/l
40 Cit = 60 umol/I Cit = 80 umol/I Cit = 140 umol/I
42 Cit > 90 umol/I Cit > 90 pumol/| Cit > 270 umol/|
43 Cit = 90 umol/I Cit = 100 umol/I
49 Cit = 60 umol/I Cit = 60 umol/l Cit = 180 umol/I
54 Cit = 80 umol/I Cit = 80 umol/I
59 Cit > 80 umol/I Cit > 80 pumol/|
66 Cit = 35 umol/I Cit = 80 umol/I Cit = 300 umol/I
67 Cit = 40 umol/I Cit = 85 umol/I Cit = 300 umol/I
Cit/Total_AA = 0.025 ratio Cit/Total_AA = 0.025 ratio
69 or ASA = 0.5 umol/l | or ASA = 0.5 umol/I
or Cit = 100 umol/l | or Cit = 100 umol/I
71 Cit = 100 umol/I Cit = 100 umol/I Cit = 300 umol/I
73 Cit = 55 umol/I Cit = 55 umol/I Cit = 80 umol/I
74 Cit = 80 umol/I Cit = 80 umol/I
75 Cit > 100 umol/I Cit > 300 umol/I
76 Cit = 50 umol/I Cit = 80 umol/I Cit = 200 umol/l
78 Cit = 60 pmol/I Cit = 60 umol/I Cit = 300 umol/I
79 Cit > 1 100 ! pmol/l Cit > 1 100 | pmol/l
82 Cit > 50 umol/I Cit > 80 umol/I|
83 Cit = 80 umol/I Cit = 80 umol/I Cit = 300 umol/l
84 Cit > 90 umol/I Cit > 90 pmol/|
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1 c3 = 3.5 umol/I c3 = 4 umol/I
& C3/C2 = 0.22 ratio & C3/C2 = 0.25 ratio
3 c3 = 3.2 umol/I c3 = 3.6 umol/I
& C3/C2 = 0.19 ratio & C3/C2 = 0.23 ratio
c3 > 3.325 i pmol/I c3 > 35 umol/I c3 > 8 umol/I
6 or c3/c2 > 0.1805 ratio & c3/c2 > 0.19 ratio
or Cc3 > 5 umol/|
; c3 = 3.6 umol/I c3 > 36 umol/I
or C3/C2 = 0.2 ratio & C3/C2 > 0.2 ratio
8 Cc3 > 3.24 umol/I Cc3 > 3.6 umol/| Cc3 > 8 umol/|
& C3/C2 > 0.22 ratio & C3/C2 > 0.25 ratio C3/C2 > 0.25 ratio
10 Cc3 > 3.6 umol/I Cc3 > 3.6 umol/I Cc3 > 8 umol/I
& C3/C2 > 0.23 ratio & C3/C2 > 0.23 ratio c3/C2 > 0.25 ratio
13 Cc3 = 3 umol/I c3 = 3.6 umol/I
& c3/C2 = 0.2 ratio & c3/c2 = 0.25 ratio
14 Cc3 = 4 umol/I c3 = 4 umol/I Cc3 = 8 umol/I
or c3/C2 = 0.25 ratio & c3/c2 = 0.25 ratio c3/c2 = 0.25 ratio
16 Cc3 = 4 umol/I c3 = 4 umol/l
or c3/C2 = 0.25 ratio & c3/c2 = 0.25 ratio
17 Cc3 = 3.5 umol/I c3 = 35 umol/l
& c3/C2 = 0.25 umol/l | & c3/c2 = 0.25 umol/|
18 Cc3 = 3.5 umol/I Cc3 = 3.6 umol/I
& c3/c2 = 0.2 ratio & c3/c2 = 0.22 ratio
20 c3 > 3.5 umol/I Cc3 > 3.5 umol/I
& C3/C2 > 0.23 ratio & C3/C2 > 0.23 ratio
”n c3 = 3.8 umol/I c3 = 3.8 umol/I
or c3/C2 = 0.22 umol/l | & C3/C2 = 0.22 umol/I
2 c3 = 3.5 umol/I c3 = 3.5 umol/I c3 = 8 umol/I
or c3/C2 = 0.22 ratio & C3/C2 = 0.22 ratio c3/C2 = 0.25 ratio
23 c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 umol/I
& C3/C2 = 0.22 ratio & C3/C2 = 0.22 ratio C3/C2 = 0.22 ratio C3/C2 = 0.25 ratio
2 c3 = 3 umol/I c3 = 3.6 uu/mi
& c3/c2 = 0.2 ratio & c3/c2 = 0.25 ratio
2 c3 > 39 pumol/I c3 > 3.9 umol/I c3 8 umol/I
or c3/c2 > 0.24 ratio & c3/c2 > 0.24 ratio c3/c2 0.24 ratio
27 c3 = 3.6 umol/I c3 = 4.4 umol/I
& C3/C2 = 0.25 ratio & C3/C2 = 0.25 ratio
28 c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 umol/I
or c3/c2 = 0.25 ratio & c3/c2 = 0.25 ratio c3/C2 = 0.25 ratio
29 c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 umol/I
or c3/c2 = 0.23 ratio & c3/c2 = 0.25 ratio
30 c3 = 3.45 umol/I c3 = 3.5 umol/I c3 = 8 umol/I
or c3/c2 = 0.2 ratio & c3/c2 = 0.25 ratio
31 c3 = 3.6 umol/I c3 = 3.6 umol/I
or c3/c2 = 0.25 ratio & c3/c2 = 0.25 ratio
2 c3 = 3.5 umol/I c3 = 3.5 umol/I [e] 2 8 umol/I
& c3/c2 > ! 022 | umol/l | & 3/C2 > ! 022 | umol/l c3/c2 > 1 025 ! umol/l
33 c3 = 4 umol/I c3 = 4 umol/I
& c3/c2 = 0.25 ratio & c3/c2 = 0.25 ratio




3 C3 > 3.3 umol/I c3 > 3.3 umol/I
& C3/C2 > 0.22 ratio C3/C2 > 0.22 ratio
36 Cc3 > 3.6 pmol/|
C3/C2 > 0.25 ratio
37 c3 = 3.6 umol/I c3 = 3.8 umol/I
or c3/c2 = 0.22 ratio c3/c2 = 0.24 ratio
18 c3 = 3.6 pmol/I c3 = 3.6 umol/I
& c3/c2 > | 025 ! umol/l c3/C2 > 1 025 | pmol/l
0 c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 pmol/I
or C3/C2 = 0.2 ratio C3/C2 = 0.24 ratio C3/C2 = 0.24 ratio
0 C3 > 3.6 umol/I c3 > 3.6 umol/I Cc3 > 7.6 umol/I
& C3/C2 > 0.25 ratio C3/C2 > 0.25 ratio C3/C2 > 0.25 ratio
4 c3 = 3.6 umol/I c3 = 3.6 umol/I
or C3/C2 = 0.23 ratio C3/C2 = 0.25 ratio
9 c3 = 4 umol/I c3 = 4 umol/I c3 = 10 pmol/I
& C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
” c3 = 4 umol/I c3 = 4 umol/I
& C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
9 c3 > 3.6 umol/I c3 > 3.6 umol/I
& Cc3/C2 > 0.25 ratio C3/C2 > 0.25 ratio
66 c3 = 4 umol/I c3 = 4 umol/I c3 = 8 pmol/I
or C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
p c3 = 4.4 umol/I c3 = 4.8 umol/I c3 = 8 pmol/I
& C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
6o c3 = 4 umol/I c3 = 4 umol/I
& C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
- c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 pmol/I
& C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
7 c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 pmol/I
& C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio C3/C2 = 0.25 ratio
- c3 = 4 umol/I c3 = 4 umol/I
or c3/c2 = 0.25 ratio c3/C2 = 0.25 ratio
75 Cc3 > 3.6 pumol/| Cc3 > 8 umol/I
c3/C2 > 0.25 ratio c3/c2 > 0.25 ratio
7 c3 = 3.2 umol/I c3 = 3.6 umol/I c3 = 8 umol/I
& c3/c2 = 0.19 ratio c3/C2 = 0.23 ratio
78 c3 = 3.6 umol/I c3 = 3.6 umol/I c3 = 8 umol/I
& c3/c2 = 0.25 umol/I c3/C2 = 0.25 umol/I c3/c2 = 0.25 umol/I
79 Cc3 > 3.5 umol/I c3 > 35 pumol/|
& c3/C2 > 0.25 ratio c3/C2 > 0.25 ratio
82 c3 > 3.6 umol/I c3 > 3.6 pumol/| c3 > 8 umol/I
& c3/c2 > 0.25 ratio c3/c2 > 0.25 ratio c3/c2 > 0.25 ratio
83 c3 = 4 umol/I c3 = 4 umol/I c3 = 8 umol/I
& c3/c2 = 0.25 ratio c3/c2 = 0.25 ratio c3/c2 = 0.25 ratio
84 Cc3 > 3.6 umol/I Cc3 > 3.6 umol/I
& c3/c2 > 0.25 ratio c3/c2 > 0.25 ratio
c3 > 3.5 umol/I c3 > 2.7 umol/I
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1 C5 = 0.6 pmol/I C5 = 1 umol/I
3 c5 = 0.7 umol/I C5 = 1 umol/I
6 C5 > 0.95 umol/I C5 > 1 umol/| C5 > 5 umol/I
7 c5 = 1 umol/I C5 > 1 umol/l
8 C5 > 0.9 umol/I C5 > 1 umol/| C5 > 5 umol/I
10 C5 > 1 umol/I C5 > 1 umol/| C5 > 5 umol/|
13 C5 = 0.9 pmol/I C5 = 1 umol/I
14 c5 = 1 umol/I C5 = 1 umol/I C5 = 5 umol/I
16 C5 = 1 pmol/I C5 = 1 umol/I
17 c5 = 1 umol/I C5 = 1 umol/l
18 C5 = 0.7 pmol/I C5 = 1 umol/I
20 c5 > 1 umol/I C5 > 1 umol/|
21 C5 = 0.8 umol/| C5 = 0.8 umol/I
22 c5 = 0.9 umol/I C5 = 1 umol/I C5 = 5 umol/l
23 C5 = 1 umol/I C5 = 1 umol/I c5 = 1 umol/| C5 = 5 pmol/I
24 c5 = 0.7 umol/I C5 = 1 umol/I
25 C5 > 1 umol/I C5 > 1 umol/| C5 > 5 umol/I|
27 c5 = 0.8 umol/I C5 = 0.9 umol/I
28 C5 = 1 umol/| C5 = 1 umol/I C5 = 5 pmol/I
29 c5 = 0.9 umol/I C5 = 1 umol/I C5 = 5 umol/l
30 C5 = 0.5 umol/I C5 = 1 umol/I C5 = 5 pmol/I
31 c5 = 1 umol/I C5 = 1 umol/l
32 C5 = 1 umol/I c5 = 1 umol/I C5 = 5 umol/I
33 o} = umol/I C5 = 1 umol/I
34 C5 > 0.85 umol/I C5 > 1 pumol/|
36 c5 > 1 pmol/|
37 C5 = 0.8 umol/I C5 = 1 umol/I
38 c5 = 1 umol/I c5 = 1 umol/I
40 C5 = 0.8 umol/I C5 = 1 umol/l C5 = 5 umol/I
42 c5 > 1 umol/I C5 > 1 umol/I C5 > 5 umol/I
43 s > ! 09 | umoll s > 1 Limol/|
49 c5 = 1 umol/I c5 = 1 umol/I cs = 5 umol/I
54 C5 = 1 umol/I C5 = 1 umol/I
59 c5 > 1 pumol/I C5 > 1 umol/I
66 C5 = 1 umol/I c5 = 1 umol/I C5 = 5 umol/I
67 c5 = 0.8 umol/I cs = 0.9 umol/I cs5 = 5 umol/I
69 [ = 1 umol/I c5 = 1 umol/I
71 c5 = 1 umol/I cs = 1 umol/I
73 C5 = 1 umol/I c5 = 1 umol/I C5 = 5 umol/I
74 c5 = 1 umol/I cs = 1 umol/I
75 C5 > 1 umol/| C5 > 5 umol/|
76 c5 = 0.7 umol/I cs = 1 umol/I cs5 = 4 umol/I
78 C5 = 1 umol/I C5 = 1 umol/I C5 = 5 umol/I
79 c5 > 1 umol/I C5 > 1 umol/I
82 C5 > 1 umol/I C5 > 1 umol/| C5 > 5 umol/|
83 C5 = 1 pmol/I C5 = 1 umol/I C5 = 5 umol/I
84 C5 > 1 umol/I C5 > 1 umol/|
o1 C5 > 1 umol/I C5 > 1 pmol/|
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1 C5-OH = 0.6 pmol/I C5-OH = 1 umol/I
3 C5-OH > 1 07 ! umol/l C5-OH > 1 umol/I
6 C5-OH > 0.95 umol/I C5-OH > 1 umol/| C5-OH > 2 umol/I
7 C5-OH > 1 umol/I C5-OH > 1 umol/I
8 C5-OH > 0.9 umol/I C5-OH > 1 umol/| C5-OH > 2 umol/I
10 C5-OH > 1 umol/I C5-OH > 1 umol/| C5-OH > 2 umol/|
13 C5-OH = 0.9 umol/I C5-OH = 1 umol/|
14 C5-OH = 1 umol/I C5-0OH = 1 umol/I C5-OH = 2 umol/I
16 C5-OH = 1 pmol/I C5-OH = 1 umol/I
17 C5-OH > 1 umol/I C5-OH > 1 umol/I
18 C5-OH = 0.8 pmol/I C5-OH = 1 umol/I
20 C5-OH > 1 umol/I C5-OH > 1 umol/|
21 C5-OH = 0.8 umol/I C5-OH = 0.8 umol/I
22 C5-OH = 0.9 umol/I C5-0OH = 1 umol/l C5-OH = 2 umol/I
23 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 1 umol/| C5-OH = 2 pmol/I
24 C5-OH = 0.7 umol/I C5-0OH = 1 umol/I
25 C5-OH > 1 umol/I C5-OH > 1 umol/| C5-OH > 2 umol/I|
27 C5-OH = 0.8 umol/I C5-0OH = 0.9 umol/I
28 C5-OH = 1 umol/| C5-OH = 1 umol/I C5-OH = 2 pmol/I
29 C5-OH = 0.9 umol/I C5-0OH = 1 umol/l C5-OH = 2 umol/l
30 C5-OH = 0.5 umol/I C5-OH = 1 umol/I C5-OH = 2 pmol/I
31 C5-OH = 1 umol/I C5-0OH = 1 umol/I
32 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
33 C5-OH = 0.9 umol/I C5-OH = 0.9 umol/I
34 C5-OH > 0.85 umol/I C5-OH > 1 pumol/|
36 C5-OH > 1 pmol/|
37 C5-OH > 1! 08 | umoll C5-OH > 1 umol/I
38 C5-OH = 1 umol/I C5-OH = 1 umol/I
40 C5-OH = 0.8 umol/I C5-OH = 1 umol/l C5-OH = 2 umol/I
42 C5-OH > 1 pumol/I C5-OH > 1 umol/I C5-OH > 2 umol/I
43 C5-OH = 0.9 umol/I C5-OH = 1 umol/I
49 C5-OH = 0.9 umol/I C5-OH = 0.9 umol/I C5-OH = 2 umol/I
54 C5-OH = 1 umol/I C5-OH = 1 umol/I
59 C5-OH > 1 pumol/I C5-OH > 1 umol/I
66 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
67 C5-OH = 0.7 umol/I C5-OH = 0.9 umol/I C5-OH = 2 umol/I
69 C5-OH > 1 umol/| C5-OH > 1 umol/I
71 C5-OH = 1 umol/I C5-OH = 1 umol/I
73 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
74 C5-OH = 1 umol/I C5-OH = 1 umol/I
75 C5-OH > 1 umol/| C5-OH > 2 umol/|
76 C5-OH = 0.7 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
78 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
79 C5-OH > 1 umol/I C5-OH > 1 umol/I
82 C5-OH > 1 umol/I C5-OH > 1 pumol/| C5-OH > 2 umol/|
83 C5-OH = 1 umol/I C5-OH = 1 umol/I C5-OH = 2 umol/I
84 C5-OH > 1 umol/I C5-OH > 1 umol/I
o1 C5-OH > 1 umol/I C5-OH > 1 pmol/|
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1 C5-DC = 0.25 pmol/I C5-DC = 0.3 umol/I
3 5-DC > 1 032 ! umol/l €5-DC > ! 035 | pmol/l
6 C5-DC > 0.1995 | pmol/| C5-DC > 0.21 pumol/|
7 5-DC > 1 025 ! umol/l €5-DC > 1 025 | pmol/l
8 C5-DC > 0.27 umol/I C5-DC > 0.3 umol/|
10 C5-DC > 0.25 umol/I C5-DC > 0.25 umol/|
13 C5-DC = 0.2 pmol/I C5-DC = 0.25 umol/I
14 5-DC > 1 035 ! umol/l €5-DC > 1 035 | pmol/l
16 €5-DC > ! 027 | umol/l €5-DC > 1 027 | pmol/l
17 5-DC > | 025 | umol/l €5-DC > 1 025 | pmol/l
18 C5-DC = 0.27 umol/| C5-DC = 0.3 umol/I
20 C5-DC > 0.3 umol/I C5-DC > 0.3 umol/|
21 C5-DC = 0.3 umol/| C5-DC = 0.3 umol/I
22 C5-DC = 0.26 umol/I C5-DC = 0.29 umol/I
23 C5-DC = 0.25 umol/I C5-DC = 0.25 umol/I C5-DC = 0.25 umol/|
24 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/l
25 C5-DC > 0.35 umol/I C5-DC > 0.35 pumol/|
27 C5-DC = 0.18 umol/I C5-DC = 0.24 umol/I
28 C5-DC = 0.2 umol/| C5-DC = 0.2 umol/I C5-DCHEARMBIFFREL THENE A
29 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/I
30 C5-DC = 0.25 umol/I C5-DC = 0.3 umol/I
31 C5-DC = 0.25 umol/I C5-DC = 0.25 umol/I
32 €5-DC > ! 025 | umol/l €5-DC > 1 025 | pmol/l
33 C5-DC = 0.35 umol/I C5-DC = 0.35 umol/I
34 C5-DC > 0.22 umol/I C5-DC > 0.25 pumol/|
36 C5-DC > 0.25 umol/I
37 C5-DC = 0.2 umol/I C5-DC = 0.22 umol/I
38 C5-DC = 0.35 umol/I C5-DC = 0.35 umol/I
40 5-DC > 1 02 | umoll €5-DC > 1 025 | pmol/l
42 C5-DC > 0.31 pumol/I C5-DC > 0.31 umol/I
43 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/I
49 C5-DC = 0.25 umol/I C5-DC = 0.25 umol/I
54 5-DC > 1 03 | pumoll €5-DC > 1 03 | umol/l
59 C5-DC > 0.25 umol/I C5-DC > 0.25 pmol/|
66 C5-DC > ! 027 | umol/l C5-DC > ! 027 | umol/l C5-DC > 1! 08 | umol
67 C5-DC = 0.2 umol/I C5-DC = 0.25 umol/I
69 5-DC > ! 035 | pmol/l C5-DC > ! 035 | umol/l
71 €5-DC > ! 035 | pmol/l €5-DC > 035 | pmol/l
73 5-DC > ! 025 | pmol/l C5-DC > ! 025 | umol/l
74 €5-DC > ! 035 | pmol/l €5-DC > i 035 | pmol/l
75 C5-DC > 0.25 umol/|
76 €5-DC = ! 032 | umol/l €5-DC > | 035 | umol/l
78 5-DC > ! 029 | pmol/l €5-DC > ! 029 | umol/l
79 C5-DC > 0.25 umol/I C5-DC > 0.25 pmol/|
82 C5-DC > 0.25 umol/I C5-DC > 0.25 pumol/|
83 C5-DC = 0.3 umol/I C5-DC = 0.3 umol/I
84 C5-DC > 0.3 umol/I C5-DC > 0.31 pumol/|
o1 C5-DC > 0.25 umol/I C5-DC > 0.25 pmol/|
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1 c8 = 0.2 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1.4 ratio
3 c8 = 0.25 umol/I c8 = 0.3 umol/I
& C8/C10 = 0.8 ratio C8/C10 = 1 ratio
6 c8 > 0.22 umol/I c8 > 0.23 umol/I c8 > 0.23 umol/I
or C8/C10 > 1.44 ratio C8/C10 > 1.6 ratio C8/C10 > 1.6 ratio
7 c8 = 0.3 umol/I c8 > 0.3 umol/I
or C8/C10 = 1.4 ratio C8/C10 > 1.4 ratio
3 c8 > 0.27 umol/I c8 > 0.3 umol/I c8 > 0.6 umol/I
& C8/C10 > 0.9 ratio C8/C10 > 1 ratio
10 c8 > 0.3 umol/I c8 > 0.3 umol/I
& C8/C10 > 1.8 ratio C8/C10 > 1.8 ratio
13 c8 = 0.25 umol/I c8 = 0.3 umol/I
& C8/C10 = 0.9 ratio C8/C10 = 1 ratio
1 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.3 pmol/I
or C8/C10 = 1.5 ratio C8/C10 = 1.5 ratio C8/C10 = 1.5 ratio
16 c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
17 c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 umol/I C8/C10 = 1 umol/I
18 c8 = 0.28 umol/I c8 = 0.3 umol/I c8 = 0.3 pmol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
20 Cc8 > 0.3 umol/I c8 > 0.3 pumol/|
& Cc8/c10 > 1.4 ratio c8/c10 > 1.4 ratio
n c8 = 0.27 umol/I c8 = 0.27 | umol/l
or C8/C10 = 1.5 umol/I C8/C10 = 1.5 umol/I
2 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.5 umol/I
or C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
23 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.6 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio cg/c10 = 1.4 ratio
" c8 = 0.2 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
2 c8 > 0.28 umol/I c8 > 0.28 pumol/| c8 > 0.28 umol/I
or Cc8/c10 > 1.2 ratio c8/c10 > 1.2 ratio Cc8/c10 > 1.2 ratio
27 c8 = 0.15 umol/I c8 = 0.3 umol/I
& C8/C10 = 1.3 ratio C8/C10 = 1.4 ratio
28 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.3 umol/I
or C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
2o 8 > ! 027 | pmol/l c8 > 1! 03 | umol/l 8 > | 03 | umol/l |BRARINAL. (BEBEAEDSH)
& C8/C10 = 1 ratio C8/C10 = 1 ratio C8/C10 = 1 ratio
30 c8 = 0.2 umol/I c8 = 0.27 i umol/l c8 = 0.5 umol/I
or C8/C10 = 1.2 ratio C8/C10 = 1.4 ratio
31 c8 = 0.3 umol/I c8 = 0.3 umol/I
or C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
3 c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/c10 = 1.8 umol/I C8/C10 = 1.8 umol/I
33 c8 = 0.25 umol/I [« = 0.25 umol/I
& C8/c10 = 1.4 ratio C8/C10 = 1.4 ratio
34 Cc8 > 0.35 umol/I Cc8 > 0.4 umol/|
& Cc8/C10 > 0.99 ratio c8/c10 > 1 pmol/|




36 Cc8 > 0.3 pmol/|
C8/C10 > 1.4 ratio
37 c8 = 0.25 umol/I c8 = 0.3 umol/I c8 2 0.3 umol/I
or C8/C10 = 1.5 ratio C8/C10 = 1.7 ratio C8/C10 = 1.7 ratio
18 c8 = 0.3 pmol/I c8 = 0.3 umol/I
& €8/C10 > 16 | umol/l 8/C10 > 1 16 | pmol/l
0 c8 = 0.2 umol/I c8 = 0.3 umol/I c8 = 0.5 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
a2 c8 > 0.3 umol/I c8 > 0.3 umol/I c8 > 0.74 umol/I
& C8/C10 > 1.3 ratio C8/C10 > 1.3 ratio C8/C10 > 1.3 ratio
4 c8 = 0.27 umol/I c8 = 0.3 umol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
9 c8 = 0.25 umol/I c8 = 0.25 umol/I c8 = 0.6 pmol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
” c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
59 c8 > 0.3 umol/I c8 > 0.3 umol/I
& C8/C10 > 1.4 ratio C8/C10 > 1.4 ratio
66 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.5 pmol/I
& C8/C10 = 1 ratio C8/C10 = 1 ratio
p c8 = 0.23 umol/I c8 = 0.3 umol/I c8 = 0.3 pmol/I
& C8/C10 = 1.3 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
6o c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1.5 ratio C8/C10 = 1.5 ratio
- c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.6 pmol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
7 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.3 pmol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
74 c8 = 0.3 umol/I c8 = 0.3 umol/I
or C8/C10 = 2 ratio C8/C10 = 2 ratio
75 Cc8 > 0.3 pumol/|
c8/c10 > 1.4 ratio
7 c8 = 0.25 umol/1 c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 0.8 ratio C8/C10 = 1 ratio C8/C10 = 1 ratio
78 c8 = 0.3 umol/I c8 = 0.3 umol/I
& C8/C10 = 1.4 umol/I C8/C10 = 1.4 umol/I
79 Cc8 > 0.3 umol/I c8 > 0.3 pumol/|
& Cc8/c10 > 1 ratio c8/c10 > 1 ratio
82 c8 > 0.3 umol/I c8 > 0.3 umol/I
& Cc8/c10 > 1.4 ratio Cc8/c10 > 1.4 ratio
83 c8 = 0.3 umol/I c8 = 0.3 umol/I c8 = 0.6 umol/I
& C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio C8/C10 = 1.4 ratio
84 c8 > 0.28 umol/I c8 > 0.3 umol/|
& Cc8/c10 > 1.4 ratio c8/c10 > 1.3 ratio
Cc8 > 0.3 umol/I Cc8 > 0.3 umol/I
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1 Cl4:1 = 0.2 umol/I Cl4:1 = 0.35 umol/I
& C14:1/C2 = 0.01 ratio C14:1/C2 = 0.013 ratio
3 Cl4:1 = 0.25 umol/I Cl4:1 = 0.3 umol/I
& C14:1/C2 = 0.01 ratio C14:1/C2 = 0.012 ratio
6 Cl4:1 > 1 0.209 ! umol/l C14:1 > 0.22 umol/I Cl4:1 > 0.22 umol/I |BIFEEN,
or C14:1/C2 > 1001045 ! ratio C14:1/C2 > | 0011 | ratio & C14:1/C2 > | 0011 | ratio |C14:1>C148C128C10
Cl4:1 = 0.3 umol/I Cl4:1 > 0.3 umol/I
7 or C14:1/C2 = 0.013 ratio C14:1/C2 > 0.013 ratio
or C14:1/C10 = 3 ratio
or C14:1/C12 = 3 ratio
3 C14:1 > 0.36 umol/I Cl4:1 > 0.4 umol/I C14:1 > 0.6 umol/I
& C14:1/C2 > 0.0117 ratio C14:1/C2 > 0.013 ratio
10 C14:1 > 0.3 umol/I Cl4:1 > 0.3 umol/I
& C14:1/C2 > 0.02 ratio C14:1/C2 > 0.02 ratio
13 Cl4:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I
& C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
1 Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 pmol/I
or C14:1/C2 = 0.012 ratio C14:1/C2 = 0.012 ratio & C14:1/C2 = 0.012 ratio
16 Cl4:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
17 Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
& C14:1/C2 = 0.013 umol/I C14:1/C2 = 0.013 | umol/I
18 Cl4:1 = 0.35 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 pmol/I
& C14:1/C2 = 0.013 ratio C14:1/C2 = 0.014 ratio & C14:1/C2 = 0.014 ratio
20 C14:1 > 0.4 umol/I Cl4:1 > 0.4 pumol/I
& Cl4:1/C2 > 0.013 ratio Cl4:1/C2 > 0.013 ratio
”n C14:1 = 0.27 umol/I C14:1 = 0.27 umol/I
or C14:1/C2 = 0.013 ! umol/I C14:1/C2 = 0.013 ! umol/I
C14:1 = 0.27 umol/I C14:1 = 0.27 umol/I C14:1 = 0.27 umol/I
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
22 & C14:1/C10 = 1 ratio
& C14:1/C12 = 1 ratio
& C14:1/C12:1 > 2 ratio
23 C14:1 = 0.3 umol/I Cl4:1 = 0.3 umol/I C14:1 = 0.3 umol/I C14:1 = 1 umol/I
& C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
C14:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I
24 & C14:1/C10 = 1 ratio C14:1/C10 = 1 ratio
& C14:1/C12 = 1 ratio C14:1/C12 = 1 ratio
2 Cl4:1 > 0.3 umol/I Cl4:1 > 0.3 umol/I Cl4:1 > 0.3 umol/|
or C14:1/C2 > 0.013 ratio C14:1/C2 > 0.013 ratio & C14:1/C2 > 0.013 ratio
27 Cl4:1 = 0.21 umol/I C14:1 = 0.27 | umol/l
& C14:1/C2 = 0.016 ratio C14:1/C2 = 0.024 ratio
28 Cl4:1 = 0.35 umol/I C14:1 = 0.35 umol/I Cl14:1 = 0.35 umol/I
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
2o c14:1 > ! 036 | pmol/l C14:1 > ! 04 | umol/l c14:1 > 1 04 | umol/l |BREMTNAL. (BIEEAEOH)
or C14:1/C2 > ! 0012 | ratio c14:1/C2 > | 0013 | ratio & C14:1/C2 > ! 0013 | ratio
N c14:1 =21 02 | umoll c14:1 > 1 03 | umol/l c14:1 > 1 umol/I
or C14:1/C2 = 0.01 ratio C14:1/C2 = 0.013 ratio
N c14:1 > 1 03 | umoll c14:1 > 1 03 | umol/l
or C14:1/C2 = 0.013 ratio C14:1/C2 = 0.013 ratio
- c14:1 > | 026 | pmol/l c14:1 > ! 026 } umol/l c14:1 > 1 026 | pmol/l




& C14:1/C2 2! 002 |pumol/l | & c14:1/C2 > 002 | pmol/l & C14:1/C2 > ! 002 | umol/
R c14:1 > 03 | pumoll c14:1 > ! 03 ! umol/l
& C14:1/C2 = 0.015 ratio & C14:1/C2 = 0.015 ratio
Cl4:1 > 0.35 umol/I Cl4:1 > 0.4 umol/I
34 & C14:1/C10 > 1 ratio & C14:1/C10 > 1 ratio
& C14:1/C12 > 1 ratio & C14:1/C12 > 1 ratio
36 C14:1 > 0.4 umol/I
& C14:1/C2 > 0.013 ratio
37 Cl4:1 = 0.23 umol/I Cl4:1 = 0.25 umol/I Cl4:1 = 0.25 pmol/I
or C14:1/C2 = 0.012 ratio & C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
18 Cl4:1 = 0.35 umol/I Cl4:1 = 0.35 umol/I
& €14:1/C2 > ! 0015 | pmol/l | & C14:1/C2 > ! 0.015 | pmol/l
0 Cl4:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 1 pmol/I
or C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
C14:1 > 0.3 umol/I Cl4:1 > 0.3 umol/I C14:1 > 0.3 umol/I
oy & C14:1/C2 > 0.011 ratio & C14:1/C2 > 0.011 ratio & C14:1/C2 > 0.011 ratio
& C14:1/C10 > 1 ratio & C14:1/C10 > 1 ratio & C14:1/C10 > 1 ratio
& C14:1/C12 > 1 ratio & C14:1/C12 > 1 ratio & C14:1/C12 > 1 ratio
4 Cl4:1 = 0.36 umol/I Cl4:1 = 0.4 umol/I
or C14:1/C2 = 0.012 ratio & C14:1/C2 = 0.013 ratio
9 Cl4:1 = 0.3 umol/I Cl4:1 = 0.3 umol/I Cl4:1 = 0.8 pmol/I
& C14:1/C2 = 0.015 ratio & C14:1/C2 = 0.015 ratio
” Cl4:1 = 0.27 umol/I Cl4:1 = 0.27 | pmol/I
& C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
9 C14:1 > 0.4 umol/I Cl4:1 > 0.4 umol/I
& C14:1/C2 > 0.013 ratio or C14:1/C2 > 0.013 ratio
Cl4:1 = 0.3 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 pmol/I
66 or C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio & C14:1/C10 = 1 ratio
& C14:1/C12 > 1 ratio
. C14:1 = 0.25 umol/I C14:1 = 0.27 umol/I C14:1 = 0.27 umol/l
& C14:1/C2 = 0.018 ratio & C14:1/C2 = 0.024 ratio & C14:1/C2 = 0.024 ratio
60 C14:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
& C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
C14:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
71 & C14:1/C10 = 1 ratio & C14:1/C10 = 1 ratio
& C14:1/C12 = 1 ratio & Cl14:1/C12 = 1 ratio
7 Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 pmol/I
& C14:1/C2 = 0.015 ratio & C14:1/C2 = 0.015 ratio & C14:1/C2 = 0.015 ratio
71 Cl4:1 = 0.4 umol/I Cl4:1 = 0.4 umol/I
or C14:1/C2 = 0.012 ratio & C14:1/C2 = 0.012 ratio
75 Cl4:1 > 0.4 pumol/I
& C14:1/C2 > 0.013 ratio
76 C14:1 = 0.25 umol/I C14:1 = 0.3 umol/I C14:1 = 0.3 umol/I
& C14:1/C2 = 0.01 ratio & C14:1/C2 = 0.012 ratio & C14:1/C2 = 0.012 ratio
78 Cl4:1 = 0.4 umol/I C14:1 = 0.4 umol/I
& C14:1/C2 > ! 0013 | pmol/l & C14:1/C2 > ! 0013 | pmol/l
79 Cl4:1 > 0.4 umol/I Cl4:1 > 0.4 umol/I
& Cl4:1/C10 > 1 ratio & Cl4:1/C2 > 0.02 ratio
82 Cl4:1 > 0.4 umol/I Cl4:1 > 0.4 umol/I Cl4:1 > 1 umol/|
& Cl4:1/C2 > 0.013 ratio or Cl4:1/C2 > 0.013 ratio & Cl4:1/C2 > 0.013 ratio
83 C14:1 = 0.27 umol/I C14:1 = 0.27 umol/I C14:1 = 1 umol/I
& C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio & C14:1/C2 = 0.013 ratio
C14:1 > 0.3 umol/I Cl4:1 > 0.3 pumol/|
84 & Cl4:1/C2 > 0.011 ratio & C14:1/C2 > 0.011 ratio
& C14:1/C10 > 1 ratio & C14:1/C10 > 1 pumol/|
Cl4:1 > 0.4 umol/I C14:1 > 0.3 umol/I

91




hybATIE BERIER

FERERE © [20226F]
SRR . =IEEERXKIEBE
—migE HERRIRE e Bl
hybADfE hybADfE (EAEEEROH ) hybADfE =
fe32N0 <hy F?j@(iﬁzgﬁbﬁﬁbfﬁﬁ WY MMBERESEEZHTIH <hy F?jﬁi(iﬂtgsﬁ:ﬁwtﬁaﬁ HYMMERTESEEH L
-HESHE, /(—E>H/IUEOVT AR (dBE HEXHE, /(—T2H1IUBOVTNAR (EHE -HESHE, )~ AIUEOVTNH R (dTBE -HESHE, /{—E>HIUEOV TN R [ETBE
L C16-0H > ! 003 | umol/ C16-OH > 1 005 | pmol/l
& €18:1-0H > 1 003 ! umol/l | & €18:1-OH > 1 005 | pmol/l
R C16-0H > ! 004 | pmol/l C16-OH > 1 005 | pmol/l
& €18:1-0H > 1 004 ! umol/l | & €18:1-OH > | 005 | pmol/l
6 C16-OH > 0.045 umol/I C16-OH > 0.05 pumol/I C16-OH > 0.05 umol/I
or C18:1-OH > 0.045 umol/I or C18:1-OH > 0.05 umol/| & C18:1-OH > 0.05 umol/|
- C16-OH = 0.1 umol/I C16-OH > 0.1 umol/I
or C18:1-OH = 0.1 umol/I & C18:1-OH > 0.1 umol/|
s C16-OH > 0.045 umol/I C16-OH > 0.05 pumol/| C16-OH > 0.5 umol/I
& C18:1-OH > 0.045 umol/I & C18:1-OH > 0.05 umol/|
10 C16-OH > 0.08 umol/I C16-OH > 0.08 pumol/|
& C18:1-OH > 0.07 umol/I & C18:1-OH > 0.07 umol/|
1 C16-OH > | 0035 | umol/l C16-OH > 1 005 | pmol/l
& C18:1-OH = 0.035 umol/I & C18:1-OH = 0.05 umol/|
1 C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I C16-OH = 0.1 pmol/I
or C18:1-OH = 0.1 umol/l | & C18:1-OH = 0.1 umol/I & C18:1-OH = 0.1 umol/I
1 C16-0H = ! 005 | umol/l C16-OH > i 005 | pmol/l
or C18:1-OH = 0.05 umol/I & C18:1-OH = 0.05 umol/|
N C16-0H = ! 005 | umol/l C16-OH > i 005 | pmol/l
& C18:1-OH = 0.05 umol/I & C18:1-OH = 0.05 umol/|
s C16-0H > ! 003 | umol/l C16-OH > 1 004 | pmol/l C16-0H > ! 004 | pmol/l
& C18:1-OH = 0.03 umol/l | & C18:1-OH = 0.04 umol/I & C18:1-OH = 0.04 umol/I
20 C16-OH > 0.05 umol/I C16-OH > 0.05 pumol/|
& C18:1-OH > 0.05 umol/I & C18:1-OH > 0.05 umol/I
2 C16-OH = 0.05 umol/I C16-OH = 0.05 pumol/|
or C18:1-OH = 0.04 umol/l | & C18:1-0OH = 0.04 umol/I
2 C16-OH = 0.05 umol/I C16-OH = 0.05 pumol/|
or C18:1-OH = 0.05 umol/l | & C18:1-0OH = 0.05 umol/I
’s €16-0H > | 008 | umol/l C16-0H > 1 008 | pmol/l C16-OH > | 008 | umol/l
& C18:1-OH = 0.05 umol/l | & C18:1-0OH = 0.05 umol/I C18:1-OH = 0.05 umol/I
" C16-OH = 0.04 umol/I C16-OH = 0.04 | umol/I
& C18:1-OH = 0.04 umol/l | & C18:1-0OH = 0.04 umol/I
25 C16-OH > 0.1 umol/I C16-OH > 0.1 pumol/| C16-OH > 0.1 umol/I
or C18:1-OH > 0.1 pumol/I & C18:1-OH > 0.1 umol/I & C18:1-OH > 0.1 umol/I
¥ C16-OH > ! 004 | pmol/l C16-OH > ! 0.045 § umol/l
& C18:1-OH > ! 004 |pmol/l | & C18:1-0H > | 0035 | umol/l
28 C16-OH > ! 01 | pmoll C16-OH > ! 01 | umol/l C16-OH > 1! 01 ! umol
or C18:1-OH = 0.1 umol/l | & C18:1-0OH = 0.1 umol/I & C18:1-OH = 0.1 umol/I
2o C16-OH > ! 005 | pmol/l C16-OH > ! 01 | umol/l C16-OH > 1 01 | umol/l |BREMTNAL. (BIEEE0H)
or C18:1-OH = 0.05 umol/l | & C18:1-0OH = 0.1 umol/I & C18:1-OH = 0.1 umol/I
N C16-OH > ! 0.035 | pmol/l C16-OH > ! 005 | umol/l
or C18:1-OH = 0.035 | umol/l | & C18:1-0OH = 0.05 umol/I
N C16-OH > ! 007 | pmol/l C16-OH > ! 007 | umol/l
or C18:1-OH = 0.07 umol/l | & C18:1-0OH = 0.07 umol/I
» C16-OH > | 008 | pmol/l C16-OH > ! 008 | umol/l C16-OH > 1 008 | umol/l
or C18:1-OH = 0.04 pumol/l | or C18:1-OH = 0.04 | pmol/I or C18:1-OH = 0.04 | pmol/I
R C16-OH > | 005 | pmol/l C16-OH > 1 005 | umol/l
& €18:1-OH z ! 007 {umoii | & €18:1-OH > | 007 | umol/l
34 C16-OH > 0.04 umol/I C16-OH > 0.06 umol/I
& C18:1-OH > 0.04 umol/I & C18:1-OH > 0.06 pmol/|




36 C16-OH > 0.1 umol/I
C18:1-OH > 0.1 pumol/|
4 C16-0H > ! 006 | umol/l C16-0H > 1 008 | pmol/l
or €18:1-OH > | 003 | umol/l €18:1-OH > ! 005 | umol/l
2 C16-0H > ! 008 | umol/ C16-0H =1 008 } pmol/l
& €18:1-OH > | 005 | pmol/l €18:1-OH > 1 005 | pmol/l
0 C16-0H > | 004 | pmol/l C16-OH =1 005 } pmol/l
or €18:1-OH > ! 006 | pmol/l €18:1-OH > ! 007 | umol/l
22 C16-OH > 0.08 umol/I C16-OH > 0.08 pumol/| C16-OH > 0.08 umol/I
& C18:1-OH > 0.07 umol/I C18:1-OH > 0.07 umol/| C18:1-OH > 0.07 umol/I|
4 C16-OH = 0.05 umol/I C16-OH = 0.1 umol/I
or C18:1-OH = 0.05 umol/I C18:1-OH = 0.1 umol/I
2 C16-0H > 005 | umol/l C16-OH > 1§ 005 § pmol/l
& €18:1-0H > 1 007 | umol/l 18:1-OH > 1 007 | pmol/l
o C16-0H > ! 005 | umol/l C16-OH > i 005 | pmol/l
& €18:1-0H > | 005 ! umol/l 18:1-OH > ! 005 | pmol/l
59 C16-OH > 0.1 umol/I C16-OH > 0.1 umol/I
& C18:1-OH > 0.1 umol/I C18:1-OH > 0.1 umol/|
o C16-0H > ! 005 | umol/l C16-OH > 1 005 | pmol/l C16-0H > 0.5 | pmol/l
or C18:1-OH = 0.05 umol/I C18:1-OH = 0.05 umol/l C18:1-OH = 0.5 umol/I
o C16-0H > ! 0035 | umol/l C16-OH > 1 0037 | pmol/l C16-0H > ! 0037 | pmol/l
& C18:1-OH = 0.034 | umol/I C18:1-OH = 0.047 ! umol/I C18:1-OH = 0.047 | umol/I
69 C16-OH > 0.1 | pmol/l C16-OH > 0.1 | pmol/i
n C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
& C18:1-OH > 0.1 | umol/l C18:1-0H > 0.1 | pmol/i
7 C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
& C18:1-0H > 0.1 | pmol/l C18:1-0H > 0.1 | pmol/l C18:1-OH > 0.1 | pmol/l
” C16-OH = 0.1 umol/I C16-OH = 0.1 umol/I
or C18:1-OH = 0.1 umol/| C18:1-OH = 0.1 umol/I
75 C16-OH > 0.1 umol/I
C18:1-OH > 0.1 pumol/|
76 C16-OH = 0.04 umol/I C16-OH = 0.05 umol/I C16-OH = 0.05 umol/I
& C18:1-0H > ! 004 | umol/l C18:1-0H > | 005 | umol/l C18:1-OH =i 005 | umol/l
78 C16-OH = 0.05 umol/I C16-OH = 0.05 umol/I
& C18:1-0H > ! 005 | umol/l C18:1-OH > 1 005 | umol/l
79 C16-OH > 0.05 umol/I C16-OH > 0.05 umol/I
& C18:1-OH > 0.05 umol/I C18:1-OH > 0.05 pumol/|
2 C16-OH > 0.1 umol/I C16-OH > 0.1 umol/I
& C18:1-OH > 0.1 umol/I C18:1-OH > 0.1 umol/|
a3 C16-OH = 0.05 umol/I C16-OH = 0.05 umol/I
& C18:1-0H > ! 005 | umol/l C18:1-OH > 1 005 | pmol/l
84 C16-OH > 0.07 umol/I C16-OH > 0.08 pmol/I
& C18:1-OH > 0.06 umol/I C18:1-OH > 0.07 umol/|
C16-OH > 0.05 umol/I C16-OH > 0.05 pmol/I
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1 C0/(C16+C18) > 60 ratio €0/(C16+C18) > 90 ratio
R €0/(C16+C18) > 60 ratio €0/(C16+C18) > 80 ratio

& Cco = 65 pmol/I C0 = 65 umol/I
6 co > 50 umol/I [¢0] > 50 umol/|

or €0/(C16+C18) > 72 ratio C0/(C16+C18) > 80 ratio
7 €0/(C16+C18) > ! 100 ratio €0/(C16+C18) > ! 100 ratio
. C0/(C16+C18) > 90 ratio €0/(C16+C18) > 100 ratio

& [¢0) > 72 umol/I C0 > 80 umol/|
1 C0/(C16+C18) > 40 ratio €0/(C16+C18) > 40 ratio

& [¢0] > 80 umol/I C0 > 80 umol/|
13 co = 100 umol/I Co = 100 umol/I

& €0/(C16+C18) > 90 ratio €0/(C16+C18) > ! 100 ratio
14 C0/(C16+C18) > 100 ratio C0/(C16+C18) > 100 ratio C0/(C16+C18) > 100 ratio
1 €0/(C16+C18) > 80 ratio €0/(C16+C18) > 80 ratio

or Cco = 80 umol/I
17 €0/(C16+C18) > | 100 | pmol/l €0/(C16+C18) > ! 100 | pmol/l
s C0/(C16+C18) > 80 ratio C0/(C16+C18) > 100 ratio C0/(C16+C18) > 100 ratio

& Cco = 80 umol/I Cco = 80 umol/I Cco = 80 umol/l
20 C0/(C16+C18) > 100 ratio C0/(C16+C18) > 100 ratio
21 €0/(C16+C18) > 50 | pmol/l €0/(C16+C18) > 50 | umol/l
22 C0/(C16+C18) > 60 ratio C0/(C16+C18) > 60 ratio
23 €0/(C16+C18) > | 100 ratio €0/(C16+C18) > | 100 ratio €0/(C16+C18) > | 100 ratio
24 C0/(C16+C18) = 80 ratio C0/(C16+C18) = 100 ratio
25 C0/(C16+C18) > 75 ratio C0/(C16+C18) > 75 ratio C0/(C16+C18) > 75 ratio
27 C0/(C16+C18) = 75 ratio C0/(C16+C18) = 80 ratio
28 €0/(C16+C18) > ! 100 ratio €0/(C16+C18) > ! 100 ratio €0/(C16+C18) > ! 100 ratio
29 C0/(C16+C18) = 90 ratio C0/(C16+C18) = 100 ratio C0/(C16+C18) = 100 ratio |BRER>ITHRV. (EBHEEOH)
30 €0/(C16+C18) > 35 ratio €0/(C16+C18) > 60 ratio
31 C0/(C16+C18) = 50 ratio C0/(C16+C18) = 50 ratio
32 €0/(C16+C18) > 40 | pmol/l C0/(C16+C18) > 40 | umol/l
33 C0/(C16+C18) = 80 ratio C0/(C16+C18) = 80 ratio
34 €0/(C16+C18) > 75 ratio €0/(C16+C18) > ! 100 ratio
6 C0/(C16+C18) > 100 ratio

Cco > 80 umol/I

37 co = 50 umol/I co = 60 umol/I

or C0/(C16+C18) = 35 ratio C0/(C16+C18) = 40 ratio
38 €0/(C16+C18) > ! 100 | umol/l €0/(C16+C18) > 1 100 | pmol/l
40 C0/(C16+C18) > 60 ratio €0/(C16+C18) > 70 ratio
2 co > 80 umol/I Cco > 80 umol/I

& €0/(C16+C18) > 9% ratio €0/(C16+C18) > 96 ratio
43 €0/(C16+C18) > 90 ratio €0/(C16+C18) > | 100 ratio
49 C0/(C16+C18) > 30 ratio €0/(C16+C18) > 80 ratio
54 C0/(C16+C18) = 100 ratio C0/(C16+C18) = 100 ratio
59 C0/(C16+C18) > 100 ratio €0/(C16+C18) > 100 ratio
o6 C0/(C16+C18) = 80 ratio C0/(C16+C18) = 80 ratio C0/(C16+C18) = 200 ratio

or Cco = 80 umol/I
67 €0/(C16+C18) > 75 ratio €0/(C16+C18) > 80 ratio C0/(C16+C18) > 80 ratio
69 €0/(C16+C18) = 100 ratio €0/(C16+C18) > 100 ratio
71 €0/(C16+C18) > | 100 ratio C0/(C16+C18) > | 100 ratio
73 €0/(C16+C18) = 100 ratio €0/(C16+C18) > 100 ratio C0/(C16+C18) > 100 ratio
74 €0/(C16+C18) > ! 100 ratio C0/(C16+C18) > | 100 ratio




75 €0/(C16+C18) > 100 ratio
26 C0/(C16+C18) = 60 ratio €0/(C16+C18) > 80 ratio
Cco = 65 pmol/I C0 = 65 umol/I
78 C0/(C16+C18) > 60 | umol/l €0/(C16+C18) > 60 | umol/l
2 C0/(C16+C18) > 100 ratio €0/(C16+C18) > 100 ratio
CO > 80 umol/I C0 > 80 umol/|
82 C0/(C16+C18) > 100 ratio C0/(C16+C18) 100 ratio
83 C0/(C16+C18) > 100 ratio €0/(C16+C18) > 100 ratio
1 Co > 80 umol/I co > 80 umol/I
€0/(C16+C18) > 9% ratio €0/(C16+C18) > 9 ratio
C0/(C16+C18) > 100 ratio €0/(C16+C18) > 100 ratio
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hybATE BERIER

FERERE © [20226F]
SRVRBA © CPT2RIBAE
—migE ERIAE P ot BRE
HyhATfE hyhADME (EHREROHE) hyhATME =
fe32N0 <hy F?j@(iﬁzg%t;ﬁﬁb'ﬁaﬂ WY MMBERESEEZHTEIH <hy |\°7T IMBERESEEHTELH HYMMERTESEEH L
-HEXHE, /—E>H/IUEOVTNA R (EBE HEXHE, /(—T2H1IUBOVTNAR (ETHE -HESHE, )~ AIUEOVTNH R (dTBE -HESHE, /(- IUEOVT N R [ETBE
(C16+C18:1)/C2 > 0.3 ratio (C16+C18:1)/C2 > i 034 ratio
1 & c14/c3 = 0.25 ratio c14/c3 = 0.3 ratio
& C16 = 2 pmol/I C16 = 2.2 umol/I
R (Cl6+C18:1)/C2 | = | 036 | ratio (Cl6+C18:1)/C2 | = | 038 | ratio
& c14/c3 > ! 034 ratio c14/c3 > | 036 ratio
6 (C16+C18:1)/C2 > 0.36 ratio (C16+C18:1)/C2 > 0.39 ratio (C16+C18:1)/C2 > 0.39 ratio
or C14/C3 > 0.2945 ratio C14/C3 > 0.31 ratio C14/C3 > 0.31 ratio
S (Cle+C18:1)/C2 | = | 04 ratio (C16+C18:1)/C2 | > 0.4 ratio
or C14/C3 = 0.3 ratio C14/C3 > 0.3 ratio
3 c14/c3 > 0.3285 ratio c14/c3 > 0.365 ratio
& | (C16+C18:1)/C2 > | 036 ratio (C16+C18:1)/C2 > 0.4 ratio
10 (C16+C18:1)/C2 > 0.42 ratio (C16+C18:1)/C2 > 0.42 ratio
& C14/C3 > 0.34 ratio C14/C3 > 0.34 ratio
1 (Cle+C18:1)/C2 | = | 035 | ratio (Cl6+C18:1)/C2 | = | 04 ratio
& c14/c3 > ! 035 ratio c14/c3 > | 041 ratio
W (Cle+C18:1)/C2 | = | 037 | ratio (Cl6+C18:1)/C2 | = | 037 | ratio (Cle+C18:1)/C2 | = | 037 | umol/l
or c14/c3 = 0.33 ratio C14/c3 = 0.33 ratio c14/c3 = 0.33 ratio
1 (Cle+C18:1)/C2 | = | 0.4 ratio (Cl6+C18:1)/C2 | = | 04 ratio
or c14/c3 = 0.35 ratio C14/c3 = 0.35 ratio
N (Cle+C18:1)/C2 | = | 036 | umol/l (Cl6+C18:1)/C2 | = | 036 ! umol/l
& c14/c3 > ! 036 | umol/l c14/c3 > 1 036 | umol/l
15 (Cle+C18:1)/C2 | = | 04 ratio (Cl6+C18:1)/C2 | = | 045 ! ratio (Cl6+C18:1)/C2 | = | 045 ! ratio
& C14/C3 = 0.35 ratio C14/C3 = 0.4 ratio C14/C3 = 0.4 ratio
20 (C16+C18:1)/C2 > 0.5 ratio (C16+C18:1)/C2 > 0.5 ratio
& C14/C3 > 0.35 ratio C14/C3 > 0.35 ratio
”n (C16+C18:1)/C2 = 0.4 umol/I (C16+C18:1)/C2 = 0.4 umol/I
or C14/C3 = 0.35 umol/I C14/C3 = 0.35 umol/I
2 (C16+C18:1)/C2 = 0.36 ratio (C16+C18:1)/C2 = 0.36 ratio (C16+C18:1)/C2 = 0.36 ratio
or c14/c3 = 0.44 ratio c14/c3 = 0.44 ratio c14/c3 = 0.44 ratio
23 (C16+C18:1)/C2 = 0.54 ratio (C16+C18:1)/C2 = 0.54 ratio (C16+C18:1)/C2 = 0.54 ratio
& C14/C3 = 0.35 ratio C14/C3 = 0.35 ratio C14/C3 = 0.35 ratio
2 C14/c3 = 0.35 ratio C14/c3 = 0.4 ratio
& (C16+C18:1)/C2 = 0.4 ratio (C16+C18:1)/C2 = 0.5 ratio
»s (C16+C18:1)/C2 > 1 037 ratio (C16+C18:1)/C2 > 1 037 ratio (C16+C18:1)/C2 0.37 ratio
or c14/c3 > 0.42 ratio C14/c3 > 0.42 ratio Cc14/c3 0.42 ratio
» (C16+C18:1)/C2 > 0.5 ratio (C16+C18:1)/C2 > 0.6 ratio
& C14/C3 = 0.35 ratio C14/C3 = 0.4 ratio
28 (C16+C18:1)/C2 > ! 045 ratio (C16+C18:1)/C2 = i 045 ratio (C16+C18:1)/C2 > ! 045 ratio
or c14/c3 = 0.46 ratio c14/c3 = 0.46 ratio c14/c3 = 0.46 ratio
2 (C16+C18:1)/C2 = ! 029 ratio (C16+C18:1)/C2 =i 032 ratio (C16+C18:1)/C2 > ! 032 ratio |BRERTNHV. (EIBEEOH)
or c14/c3 = 0.26 ratio c14/c3 = 0.35 ratio c14/c3 = 0.35 ratio
2 (C16+C18:1)/C2 > ! 038 ratio (C16+C18:1)/C2 > ! 042 ratio
or c14/c3 = 0.4 ratio c14/c3 = 0.57 ratio
31 C14/C3 = 0.31 ratio C14/C3 = 0.31 ratio
or (C16+C18:1)/C2 = 0.44 ratio (C16+C18:1)/C2 = 0.44 ratio
. c14/c3 > ! 039 | pmol/l c14/c3 = 1 039 | pmol/l c14/c3 > ! 039 | pmol/
& | (C16+C18:1)/C2 | = | 042 ! pumol/l (Cl6+C18:1)/C2 | = | 042 | pmol/l (C16+C18:1)/C2 | = | 042 | pmol/l
N (C16+C18:1)/C2 > | 0438 | ratio (C16+C18:1)/C2 > | 0438 | ratio
& c14/c3 = 0.397 ratio c14/c3 = 0.397 ratio




1 (C16+C18:1)/C2 > 0.34 ratio (C16+C18:1)/C2 > 0.39 ratio
& C14/C3 > 0.3 ratio & C14/C3 > 0.44 ratio
36 C14/C3 > 0.48 ratio
& (C16+C18:1)/C2 > 0.54 ratio
37 c14/c3 = 0.25 ratio c14/c3 = 0.3 ratio c14/c3 = 0.3 ratio
or (C16+C18:1)/C2 > 1 045 ratio | & (C16+C18:1)/C2 > 0.5 ratio (C16+C18:1)/C2 > 0.5 ratio
18 (C16+C18:1)/C2 = 0.4 pmol/I (C16+C18:1)/C2 > 0.5 umol/I
& €14/C3 =1 035 | umol/l | & c14/C3 > i 035 | pmol/l
20 (C16+C18:1)/C2 > 0.32 ratio (C16+C18:1)/C2 > 0.4 ratio
or C14/C3 = 0.32 ratio C14/C3 = 0.41 ratio
“ (C16+C18:1)/C2 > 0.37 ratio (C16+C18:1)/C2 > i 037 ratio (C16+C18:1)/C2 > 1 037 ratio
& C14/C3 > 0.34 ratio & C14/C3 > 0.34 ratio C14/C3 > 0.34 ratio
s (C16+C18:1)/C2 > 0.29 ratio (C16+C18:1)/C2 =1 032 ratio
or C14/C3 = 0.26 ratio & C14/C3 = 0.35 ratio
2 (C16+C18:1)/C2 > | 0438 | ratio (C16+C18:1)/C2 > | 0438 | ratio (C16+C18:1)/C2 > | 0438 | ratio
or C14/C3 = 0.397 ratio or C14/C3 = 0.397 ratio C14/C3 = 0.397 ratio
B (C16+C18:1)/C2 > 0.65 ratio (C16+C18:1)/C2 > | 065 ratio
& C14/C3 = 0.4 ratio & C14/C3 = 0.4 ratio
- (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 > 0.4 ratio
& C14/C3 > 0.35 ratio & C14/C3 > 0.35 ratio
66 (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 > 0.4 ratio
or C14/C3 = 0.35 ratio & C14/C3 = 0.35 ratio C14/C3 = 0.35 ratio
o (C16+C18:1)/C2 > 0.47 ratio (C16+C18:1)/C2 > | 052 ratio (C16+C18:1)/C2 > ! 052 ratio
& C14/C3 = 0.3 ratio & C14/C3 = 0.4 ratio C14/C3 = 0.4 ratio
6o (C16+C18:1)/C2 > 0.38 ratio (C16+C18:1)/C2 > | 038 ratio
& C14/C3 = 0.41 ratio & C14/C3 = 0.41 ratio
B (C16+C18:1)/C2 > 0.45 ratio (C16+C18:1)/C2 > | 045 ratio
& C14/C3 = 0.4 ratio & C14/C3 = 0.4 ratio
3 (C16+C18:1)/C2 > 0.35 | pmol/l (C16+C18:1)/C2 > 1! 035 ratio (C16+C18:1)/C2 > | 035 ratio
& C14/C3 = 0.3 ratio & C14/C3 = 0.3 ratio C14/C3 = 0.3 ratio
- (C16+C18:1)/C2 = 0.37 ratio (C16+C18:1)/C2 = 0.37 ratio
or Cc14/c3 = 0.33 ratio & C14/C3 = 0.33 ratio
75 C14/c3 > 0.48 ratio
& (C16+C18:1)/C2 > 0.54 ratio
76 (C16+C18:1)/C2 = 0.36 ratio (C16+C18:1)/C2 = 0.38 ratio (C16+C18:1)/C2 = 0.38 ratio
& Cc14/c3 = 0.34 ratio & C14/C3 = 0.36 ratio C14/c3 = 0.36 ratio
78 (C16+C18:1)/C2 = 1 043 | umol/l (C16+C18:1)/C2 = i 043 | umol/l
& Cc14/c3 = 0.35 umol/I C14/c3 = 0.35 umol/I
79 (C16+C18:1)/C2 > 0.62 ratio (C16+C18:1)/C2 0.62 ratio
& c14/c3 > 0.68 ratio & Cc14/c3 0.68 ratio
2 (C16+C18:1)/C2 > 0.4 ratio (C16+C18:1)/C2 > 0.4 ratio
& c14/c3 > 0.35 ratio c14/c3 > 0.35 ratio
83 (C16+C18:1)/C2 = 0.65 ratio (C16+C18:1)/C2 = 0.65 ratio
& Cc14/c3 = 0.4 ratio & C14/C3 = 0.4 ratio
84 (C16+C18:1)/C2 > 0.37 ratio (C16+C18:1)/C2 > 0.37 ratio
& C14/C3 > 0.34 ratio & C14/C3 > 0.34 ratio
(C16+C18:1)/C2 > 0.62 ratio (C16+C18:1)/C2 > 0.55 ratio
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